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Exercise 1: (1.25 ptos) If P(x)=8x"+5x—3, O(x)=Tx"—4x—7 and R(x)=5x-2 workout:

a) P—O=x"+9x+4 b) P-R=40x" +9x* —25x+6

Exercise 2: (1.5 ptos)

a) Take out common factors: 12x°v* —9x°v* +3x v =3x"y (4x3y3 —3xy +1)

b) Expand: {5x—4_}-}1 =25x" —40xy +163°

c) Evaluate the polynomial P(x) =3x" —8x+9 when x=—2  P(-2)=37

Exercise 3: (3 ptos) Work out:

a) 3 +6x=0 — |x=0 [x=-2 b) 4x*—16=0 — [x=%2
c) 81x*—25=0 — d) ¥ —2x-15=0 — [x=5] [x=-3]
e) > +6x+9=0 — |x=-3 double | f) 37 —5x+2=0 — |x=1] [x=2/3]

Exercise 4: (1.25 ptos) We have a challenge in my high school. As a part of the Solidarity Day we want to
get a lot of food in order to donate it to a food bank. The first week we collected one third of the intended
guantity, and the second week, three tenths of the remaining. If we are still 266 kilos short, how many
kilos of food do we need in total? Hurry, you are late !

We had to get a total of 370 kg of food, and we did 1t !!!

Exercise 5: (1 pto) In a rectangle, the base is seven centimeters less than the height, and the perimeter
measures 35 cm. Find its dimensions.

The rectangle has a height of 17.25 c¢m and a base of 10.25 cm

Exercise 6: [1 pto) Solve the equation {2:c+1j1—ﬁ:3:c — |x:1| |x:—5f’4]

Exercise 7: [1 pto) Work out the value of

' 2".'—2 fz-?}—l_ﬁ_z__ﬂ
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